SIEHILAMIE T 100 ££52 /\£E4R #hEERl w28

— ~ EZ

1.(D) % A RS ARE &5 &t F404 B I e
RAEE G K2 HT BV 2B A F
APEE gAY E R R RAKER N
76‘? o Aﬂl;,ﬁ;a’—g u%’_%g\r’v = S ﬁﬁ;u » 4 &
R fi & eniw rEka I_“ﬂ,#%&&%fg@ ?
(Mg (B) % T s A,
(C)fE k&% DwFr=%% -
2.CHeH P! MEL T LM A R

TAHREAREE?
(M- 7 P28 10CEER

(B)’: noA i’—’):l‘s‘l 180C:‘E/§_2

C)#"-kETH0 FF EaER
D)#" k& 5004 EAER -

3. (B e Ras ME A ke feds s > 2020
EDT QP EREEINIMNPEP S FE R
BEWR BE3IABI T FREME 3K
LB o R B A BRE T B A
BB TR E D
(AP FE3E % e
(OB P

(B)id 7 B Benli i
D)+ B e F v E 3250

4. (B ) d i Ee Rkt > BB RRRDEF
FoRal Az 4R o AL R ROk BB AE 0 T
BRAKNE RALREERL F Y RE,E
TE ~afFe ot 53 —\—frjgg#‘rq Lo ;%_
Be ol E b R AN ET SR R 9

()= 14 (B) Fli 45
O %%+ (DRI RFIA o

5. ( O 2 WP & h i Tl T > ¢ R
2020 # shzh B A v MHwL G 11107;%-?‘:“ L
ERRELIPYQ
(DA T I F g
BEFiEtpmimsy
(C)F M@ A v g3t
M4

6.( B)® W% 1980 # k& A v & A 2 595, 2R
Ao 2019 & 4 12% 0 ¢ @ g EIALE
Fri&725@9

§¢$%?—§}2 o

(D1 FFieh  (B)hd 5« gt
OF2xA o> D)+ 2HF13kp

_ DT SR #A
1. ( A )‘J Wﬂ’/{f‘]“/\ 1980 ¥ lj“Fm'ﬁp’V\ip /\:"/44""' ?\f
FREMRED > A5 L p° HEARFEOLE
Bpoog Rt A 1980 & fpE o ¢ R (T l?ﬁ_?p
BRF AR SHEE ?
MHEgRER B)FYFIE
OFERA® D¢ <F£%
8&0)6Wﬁﬁ%ﬁﬁﬁﬁﬁr“m%§Jﬁ%’%
o e REHRTE R REBEE S
a3 o p o v @21 R ‘S ke S W]
HIE R S T AR K A ?
(Da el Bl ot
(C)2i 2 g (D)4 Z AR -

9.CC ) vi— & % el 2 p f "Kiwi ;> &% ehX &
BAE A U R T AR IokP
Z el L E BB Y
(A)® (B)e ©p M~ -
Z
A
- ‘
T//
10. (A) & Eﬁ,}}ia-* BRI o~ 2Re o X B
ﬂmmﬁkfg T IR
AHE RS AR A B R 1%
T it AN 9
MHFx BrRKE COF# (D)4 o

11.CA "REN PR} 2 AL g2 p B3 - A2 F

BEF D FERELG i
By gact o pag \
P 12 BRI
(MHe F73  (Be k¥
O 1 B (D)ﬁ'ﬁuﬂﬁ °

12.C A ) &RE? oy %ﬁi#‘%é@lww |7 > ¢ R
eE RS A BT L RRE P D
DFE I BF:T§E
OF 48 DiErzie

(Si®=rr)
22; - - uEaY 162
400 .o HOEM 7
B HOmm /
/
300
250

200
150
100

50

O . e (RN —
1880 1986 1000 1995 2000 2005 2010 2015 Zgég
(EE)



13. (D) 57— B4R o ¢ RiE AaE £ ok
Fend g8 L1 LB R X9
(DR (B
O=xx D)+ -
14.C COMB 3 54 ®hf FH o T 7IM v hfcif
e ?
(ADizBH % 3t e Lof
B)izfgRrEfit i ®
(OFEFFE P 35 3 H
D)E B F 55 R o

2R (mm) HE("C)
500 40
4 30
400 50
300 ;/\« 10
4 0

=20

!
(2101

5

15. ( D )if# kixF g d % B F LR JF
IHE NG FREF B o BB G TR
HE DR B RPN LAY
KT - B ATB AR o R IS LFR R
B e 2 AR F A fovn- fE otk 5 %R
B B ?
(A) % o s pe st (B)pas » #
(C)id -3k 5k (D) 2 22l eyl

2ooﬂ i- o

h



